Algebra 1: 6.1 Homework
Transformations and Substitution
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Transform both equations in each system of equations so that every coefficient in an integer.
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Multiply decimals by a multiple of 10.

Multiply fractions by the least common denominator.
Do NOT solve!
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Solve each system of equations by substitution.

o {F@2 )

xX=

-9:&(4>-‘3
3:?'5

Y:°
(e know hot 3= 4

(4 5)

T aedy=T v 2
8. 2 2

§y=2x—10 X 3

_1/% + 3_5 = -/”7/

1y «(Gx -39
=T

v+3 (gr-30)F !
w4 18x - 96 =14

Iq % _9/0/ S ')(—‘
+96 *40

 ax <%
4 /9
% =4
ij: 6(410" 30
ﬂ = oQLIl" 50

_Zj:-

(4,-6)

y—-3x=4
yﬁg—$4:4
g g

No so luct-iort

. {O.8x~0.2y=1.5 %=/

0.1x+12y=08 X [O

§x -2y~ 15

s
e v

*‘Mo_(j+(a4 - Ry = 15
_ - =15

oy et
— w4~ A
BT -9Y
Y: =
A= —IQ{:%) +&
xeor® (2

/

X =2

<)




